HRERE

HRERE

HRERE

HRERERN

Juoogdood

201801 90 15 11

HRERE




(G, K) :
G/K :
G/KUOG
G

= G/K

DIII(n) = SO(2n)/U(n)
n DIII(n)/Z




(Chen- )

M Riemann
S, : x €M
SCM:

& Ve,y €8 sx(y) =y
S : & | S|

H#oM : 2-number




R

2-number :

Chen-

: Sanchez,

R

2-number :

Chen-




JO0000oodd Hermite O O O O
DIII(n) =S02n)/U(n)000

DIII(n) = {g € SO(2n) | g% = —14,}

00000 SO(2n)00 DITI(n)DDOOO

[ [
SO2n)0D0000D0O00O0O0DOOOODOO0O



DITI(n)
= {g diag(Jy,...,J1)g"" | g € SO(2n)}
U {g diag(—J1,J1,...,J1)g" " | g € SO(2n)}

0O 1
—1 0

0000 =

J00000000 DITI(n)000000C
D0 Pfaffian 000000000000



2n 00000 PfafianO0 0O 0O 0O O 0O O O O

000S.,0 {1,2,...,20Y000000000
Fo—doc S, c(2t—1) <0o(2t) (1 <2< n), >
\ c(l)<oc3) <+ <o(2n—1) /

2n 00000 A = (a;;) 01000

Pf(A) = Z Sgn(a)aa(l)a(z) *** Qg(2n—1)0(2n)
UEF2n

0000 AQ Pfaffian00 Pf(A)0000OO



DITI(n) = {g € SO(2n) | g2 = —12,} [
100 2n000000000g € SO(2n)0
L1 OO

Pf(g diag(Jy,...,J1)g ') = 1,
Pf(g diag(—Jy, J1,...,J1)g ') = —1.
000000000 DIII(n)000000
DIII(n)
= {9 € SO(2n) | g° = —12n, Pf(g) = 1}
= {gdiag(Jy,...,J1)g"" | g € SO(2n)}

8



SO2n)0 00 DIII(n)000000OO0
g’?=—-1,,0Pf(g)=1000000000
00000ooon

sziag(Jl,...,Jl)DDDD SO(ZTL)D
DIII(n)0D00000D0OO0O00O0OO0OO

{g € SO(2n) | gJg~' = J} =U(n)

0000DIII(n) 2 SO(2n)/U(n)000
000



DIII(n)0DD0O000O0D0DOO0O0O0O0ODOO
HREREREAN

Fn pp— {diag(elJl, c ooy Enjl)

C DIII(n)

Jobooodd

10



n0000000SO(2n)0 {£1,,}00000

SO(2n) _ DIII(n)

SO(2n)* = (£1,,1 D (£1,,]
> IZHlIZS) — DITI(n)*

SO(2n)*000000C0
0000DIII(n)*000
0000

11



Ton : SO(2n) — SO(2n)* 00000000

000000 D[4]0
D[4] =
0000A; = {diag(-

SO(2n)*000000000OC0
AD0000000m,000000000

0

+1

+=1 O

-1,..., 1

0

=1
1 0

-1)}0000

1000 D4]

00000 DITI(n)0000
0000 DIII(n)*00000
0000

12



